Teacher’s Tools® Chemistry

Chemical Reactions: Redox Reactions:  Worksheet 2 Answer Key

Write the net ionic equation for each reaction.  It is not necessary to balance the equations or to indicate phases.

1)
iron(III) ions are reduced by iodide ions.


Fe3+  + I-   Fe2+  + I2 

2)
potassium permanganate solution is added to concentrated hydrochloric acid.


MnO4-  + H+  + Cl-   Mn2+  + Cl2  + H2O

3)
magnesium metal is added to dilute nitric acid, giving as one of the products a compound in which the oxidation number for nitrogen is -3.


Mg  + NO3-  + H+   Mg2+  + NH4+ 
4)
aluminum metal is added to a solution of copper(II) chloride.


Al  + Cu2+   Al3+  + Cu 
5)
potassium dichromate solution is added to an acidified solution of sodium sulfite.


Cr2O72-   + HSO3-    SO42-   + Cr3+  + H2O

6)
solutions of potassium iodide, potassium iodate, and dilute sulfuric acid are mixed.


I-  + IO3-  + H+   H2O + I2  

7)
a solution of tin(II) sulfate is added to a solution of iron(III) sulfate.


Sn2+  + Fe3+   Sn4+  + Fe2+ 
8)
solid silver sulfide is warmed with dilute nitric acid.


Ag2S  + H+  + NO3-   Ag+  + S  + NO2  + H2O

9)
metallic copper is heated with concentrated sulfuric acid.


Cu  + H2SO4  Cu2+ + SO2 + H2O

10)
manganese(IV) oxide is added to warm, concentrated hydrobromic acid.


MnO2  + H+  + Br-   Mn2+ + Br2 + H2O

11)
small chunks of solid sodium are added to water.


Na  + H2O  Na+  + OH-  + H2 
12)
hydrogen peroxide solution is added to acidified potassium iodide solution.

    H2O2  + H+  + I-   H2O + I2    
13)
hydrogen peroxide is added to an acidified solution of potassium dichromate.


H2O2 + H+  + Cr2O72-   Cr3+  + H2O + O2 
14)
calcium metal is added to a dilute solution of hydrochloric acid.


Ca  + H+   Ca2+  + H2 
15)
sulfur dioxide gas is bubble through an acidified solution of potassium permanganate.


SO2  + H+  + MnO4-   Mn2+  + H2O + SO42- 
16)
a solution containing tin(II) ions is added to an acidified solution of potassium dichromate.


Sn2+  + H+  + Cr2O72-   Sn4+  + Cr3+  + H2O

17)
liquid bromine is added to a solution of potassium iodide.


Br2  + I-   Br-  + I2  

18)
a dilute solution of sulfuric acid is electrolyzed between platinum electrodes.


H2O  H2  + O2 
19)
pellets of lead are dropped into hot sulfuric acid.


Pb  + H+  + SO42-   H2O + SO2  + Pb2+   or PbSO4
20)
magnesium turnings are added to a solution of iron(III) chloride.


Mg  + Fe3+   Mg2+  + Fe2+ 
21)
a solution of hydrogen peroxide is catalytically decomposed.


H2O2  H2O + O2

22)
powdered iron is added to a solution of iron(III) sulfate.


Fe  + Fe3+   Fe2+ 
23)
chlorine gas is bubbled into a solution of sodium bromide.


Cl2  + Br-   Cl-  + Br2
24)
solid zinc strips are added to a solution of copper(II) sulfate.


Zn  + Cu2+   Zn2+  + Cu 
25)
copper(II) sulfide is oxidized by dilute nitric acid


CuS  + H+  + NO3-   Cu2+  + SO2 + NO + H2O
26)
a solution of tin(II) chloride is added to a solution of iron(III) sulfate.


Sn2+  + Fe3+   Sn4+  + Fe2+ 
27)
an acidified solution of potassium permanganate is added to a solution of sodium sulfite.


H+  + MnO4-  + SO32-   Mn2+  + SO42-  + H2O

28)
chlorine gas is bubbled into a solution of potassium iodide.


Cl2  + I-   Cl-  + I2  

29)
solid calcium is added to warm water.


Ca  + H2O  Ca2+  + OH-  + H2 
30)
solid silver is added to a dilute nitric acid (6M) solution.


Ag  + H+  + NO3-   Ag+  + NO  + H2O

31)
hydrogen peroxide solution is added to a solution of iron(II) sulfate.


H2O2  + Fe2+   H2O + Fe3+  or Fe(OH)3 
32)
a solution of potassium iodide is added to an acidified solution of potassium dichromate.


H+  + I-  + Cr2O72-   I2  + Cr3+  + H2O 

33)
a strip of magnesium is added to a solution of silver nitrate.


Mg  + Ag+   Mg2+  + Ag 
34)
a solution of tin(II) chloride is added to an acidified solution of potassium permanganate.


Sn2+  + H+  + MnO4-   Sn4+  + Mn2+  + H2O

35)
a solution of hydrogen peroxide is heated.


H2O2   H2O + O2 
36)
a strip of copper metal is added to a concentrated solution of sulfuric acid.


Cu  + H+  + SO42-   Cu2+  {or Cu+ }  + H2O + SO2
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